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1) Explain shortly how a molecule with this type of structure T 24 -
will affect the properties of a membrane bilayer. (4 marks).

" 4+ on diach to tvm’m’-ofﬂf'ui bi\o%e_r ond
waks s wore  hydrophobic’ e
OU'S(OUP con hove @ k@drdg"-"‘ bond

HO 4 6

2) Draw the structure of glucose either in the 3) Name the following fatty acid according to
. Fisher (open chain) or Haworth (ring; either the systematic nomenclature system (4 marks).
pyran or furan ring) projection. (4 marks).
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4) Here are some molecules and list of molecule names you should be able to recognize. Please combine
the right letter indicating the name with the right number for the molecule. There are more names than
needed and there may be cases, where more than one name is possible. In the latter case choose one

of the possible ones. (8 marks)
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a non-reducing sugar
a reducing sugar
two pyranose rings

B analdotriose
A aglycoside
a sugar derivative AR
l&j a glycerophospholipid
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a detergent
a triacylglycerol
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5) Describe shortly and/or use a drawing to explain the structure of a lipid raft - what is it, where is it,
what does it contain, why it is like that? (8 marks)
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6) What is meant by asymmetry of the biological membrane ? (3 marks)
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7) Please define the following concepts (6 marks): 3

a)eSpi\rJn\;;rS Which 2% have Tg‘ﬁP\e thorge Bk S clinge oYy
¢

N one plocc N_(g_“ wot-u \.q
b) enantiomer hes ‘L-ou oo
CH M cH0M

The Molecole hove  some  afoms  in the sfructur  buk  thee

ore  dso onformofionad dr\Ofg"-S.. ¢
c) omega fatty acid

Q ,
mmelancture  System for Fﬂi'&j acds where the fiest corbon
1310 the P’\.Ii\'\:]‘ fﬂrouf, Of\d +he ‘a3+ \N o (_orbox:j\ 8?{3\_,?
d) liposome
LiPicl *bdaﬂv‘ formed vegicle +hat con  tronster caole cles
QU(’IS\NL’\Q)"L " fha  ceh ond outsdae tha C‘/uf{or examble hontones.

% \&

8) A glucose molecule can go through a synthetic membrane with the speed of 4 x 10*° cm/s, but
through a red blood cell membrane with the speed of 2 x 10 cm/s. Why? (2 marks).
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9) Explain shortly the difference in the cell envelope structure between Gram positive and negative
bacteria (3 marks).
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